Canonbury Home Learning

Year 3 Maths - Main activity ANSWERS

Complete at least 2 columns, more if you can!
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Task 1

Task 2

Practice

Use your knowledge of
times tables to solve
these divisions:

040+5=8
)48 + 8 =6
05=30+6
)12 =24 =2
020+4=5
p21+7=3
98 =96 + 12
n27 +3=9

Practice

Use a number line to calculate
these:

Sl =
80 —-5=16

45 = 3=15
64 — 4 =16

5 =—5=15
906 —-4=14
80 —5=17
16 —4=19

66 — 3 =22

Reasoning

48+ 4 (=) 36+3

Which calculation is the odd one out?

Explain your thinking.
64 + 8 /74
49 +- 6 65 + 3

Possible answer: 64 + 8 because it is the
onlg calculation which doesn’t involve a
remainder. It divides exactlg.




